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# A (Compounding Interest Rates)

B 14 (Present Value, PV)

#{8 (Future Value, FV)

BLAA #] % B T (Present Value
Interest Factor, PVIF)

A RALF] Z H T (Future Value
Interest Factor, FVIF)

— #% F 4 (Ordinary Annuity)

27 %1 F 42 (Annuity Due)

o H AT 2K (Amortization)

7K 4 SF & (Perpetuity)

4 B S % (Nominal Annual
Rate)
€ 54| £ (Periodic Interest Rate)
€® A 3F A & (Effective Annual
Rate)

® 00060 & SO0
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R FPKEE N o (HH)EL
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FV(N) = PV(0) * (1+R)*N = PV(0) *
FVIF (R, N)
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~V(N) - EHREE

R K N ¢ R ()
=VIF(R,N) = 4B AR T (Future
Value Interest Factor)

3. FBIE + RRFFIARKEHBIA
TS5 HZEE

PVOA(N) = PMT * PVIFA (R, N)
PVOA(N) : EEFaIRE

PMT : SEAHIREHEA

R : ik N 4 (H)#
PVIFA(RN) : Fa I EAEA T
(Present Value Interest Factor for
Annuity)

4 FELUE T RREEHIRERILA
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e —FZEE

FVOA(N) =PMT *FVIFA(R,N)
FVOA(N)) * HilF 443 E

PMT @ SRR EHEIA

R FZEKAE N @ 4F ()8
FVIFA(RN) : S4B FIRN T
(Future Value Interest Factor for
Annuity)

2~ B EEEBEEE -
1.,3)%[*5%@ R EBHESHZEE
PV(0) = FV(N)/ (1+R)*N = FV(N) *
PVIF(R,N)

=100& *0.6139

=61.395

2HPREHE + SHIVEBIERK Z(E
@

FV(N) = PV(0) * (1+R)*N = PV(0) *
FVIF (R, N)
= 1008 * 1.6289
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= 162.895

3. FEHRE ¢ RS

5 HZEE

PVOA(N) = PMT * PVIFA (R, N )

=100& *7.7217
=772175

4 FpHE - RREA

Eacte —F Z(EE

FVOA(N) = PMT * FVIFA (R, N )

= 100 * 12.578
=1,257.85
B~ e B R (H

HRF T HY R — 7 7K A )

FllZR > B T3S

SHIR B

SHIR B

HZ = KA -

DL |
HEZ/D?

Rp B F - E R T E

BWAFFEFZ/D?
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